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Roll No. Answer Sheet No.
Sig. of Candidate. Sig. of Invigilator.
CHEMISTRY SSC-i

SECTION - A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

()

(i)

(iii)

(iv)

(V)

{vi)

(vii)

(vii)

(ix)

()

(xii)

How many molecules are present in 0.5 moles of Benzene (C;H,) ?

A. 2.011x10” molecules B. 3.011x10* molecules

C. 4.011x10% molecules D. 5.011x10% molecules

Which one is heterogeneous mixture?

A. Qil floating on water B. Water containing dissolved oxygen
C. Table salt dissolved in water D. Air

When uranium - 238 decays into thorium — 234, it emits:

A Neutron B. Proton C. Electron D. Alpha particle
Which of the following elements belongs to group VIl A?

A Na B. Mg C. Xe D. Br

Which of the following substances has ionic bond?

A. MgO B. Co, C. SO, D. H,0

Water boils at in a pressure cooker,

A 100°C B. 110°C C. 120°C D. 130°C

Fermentation of cane sugar produces viv of ethyl alcohol called rectified spirit.
A. 85% B. 90% C 95% D. 100%

Particles size of coliides vary from:

A 0.1to1nm  B. 1t010° nm C. 10*to 10° nm D. 10°to 10° nm
In which of the following changes the nitrogen atom is reduced?

A. N,to NO B. N, to NO, C. N, to NH, D. N,to HNO,
Which metal is used to make filaments of electric bulbs?

A Tungsten B. Silver C. Copper D. lron

Melting point of Sodium is:

A 77.8°C B. 87.8°C C. 97.8°C D. 107.8°C
Which one of the foliowing ions burns with brick red flame?

A Mg® B. Ca™ C. Ba®” D. Sr?

For Examiner’s use only:

Total Marks: 12
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Time allowed: 2:40 Hours

CHEMISTRY SSC-| | U

Total Marks Sections B and C: 53

NOTE:

Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Note:
Q.3

SECTION - B (Marks 33

Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11x3=33)

Calculate the total number of H-atoms present in 18g of H,0 . (Atomic Mass H =1, 0 =16)

a. Define free radical.
b. Explain why?

1. Magnesium ion, Mg*? has +2 charge.

2. Sulphide ion, S~ has—2 charge.
What is dating? How is it used to estimate the age of dead organisms?
Exptain briefly how Boht’'s atomic theory differs from Rutherford's atomic theory?
For normal elements, the number of valence electrons of an element is equal to the group number. Find
the group number of the given elements. 741, 7K, 50
Define electron affinity. Write the trend of electron affinity in groups and periods of the periodic table.
Briefly explain formation of covalent bond between two nitrogen atoms.
Describe the importance of noble gas electronic configuration.
What is boiling point? How does the external pressure affect the boiling points of the liquids?
Identify the process occurring in each of the following:
a. Mothballs slowly disappear
b. A cold windshield becomes covered with ice when struck by raindrops.
C. The water level in an aquarium ddtreases slowly even though the tank does not leak.
Sodium Chloride and glucose both are soluble in water. But the solubility of NaCl is greater than
glucose. Explain why?
Benzene is a common organic solvent. Its use is now restricted because this can cause cancer.
The recommended limit of exposure to benzene is 0.32 mg per dm® of air. Calculate the molarity
of this solution. (Atomic Mass C=12, H=1)
Define salt bridge. What is the function of a salt bridge in a galvanic cell?
What is an oxidizing agent? Give two examples of oxidizing agents.
Identify the position of potassium and calcium in the periodic table.

SECTION-C (M 20

Attempt any TWO questions. All questlons carry equal marks. (2 x 10 = 20)

Describe the manufacturing of sodium hydroxide ( NaOH ) from brine. Write all the chemical

reactions occurring in the electrolytic (Nelson’s) cell. (03+03)
Give any two important uses of Gold. (02)
Why do wet clothes dry quickly in summer than in winter? (02)

Define crystalline solids. Write two properties of crystalline solids. (01+02)
Differentiate among Saturated, Unsaturated and Supersaturated solutions. (03)
Define ionic Bond. Use electron dot and electron cross structures to expiain the formation of

ionic bond between Mg and F. (01+03)

What is chromium plating? Write complete process of chromium plating. (01+03)
Define Hydrogen Bonding. Explain Hydrogen Bonding found in Water. Also draw diagram. (01+02+01)
Define amphoteric oxide. Write one example. (01+01)
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